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For cach question, four opnom( L7, 3,4 are piven. One of thent s the

Fect answer,

Choose the correct answer and shade 1ts oval on the Optica! Answer Sheet ((DOAR )
L §10.08= ¢

(1) 108
(2) 150
(3) 1005
() 1050

2. Zm19m = m

;21.

2019
2109
2150

—~ o~ ey
O I

N e N N

P
i

3, Which of the foliowing has the same value ag 2027 g 7
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7. Inthe numeral 6021 which g
DEE
(2) 2
(1) 0
{(4) 6

The picture graph below shows the number of different ffowers
angwer Questions § and 9.
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2. How many tulips were sold by the fiogst?
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Use the graph helow
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weer Questions 10 and 11,

Food Sold in a Canteen

1§

LR VIN
SR
SEY g
304
) *
N
ORE

4

14
EPENN
iy
i2) A
Y
i

hY ey

{‘-‘:) 1

¥

Al

riates of food were sald i

.

Bee Moon

=T
APy

hnon were soid?

fr y e [east

i,

fwenty-cens coins for ane-deilar coing How many onc




13.

A picce ol 2-m wire 13 bent ta form the Talfowing triangis. What is the fey

of AC?
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The blocks have the same mass each. What (s the mass of one b}
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Tihe capauity of apad is 3 iitres. There are Q172 rainf water i it How meeh more
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18.

$16.490
$18.40
§20.20
$20.30
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22, Divide 759 by 7. The quotient s

23, Pind the difference benvern 37
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27. The objects A, B and C are made of different materials. AT e in arder, rom
the heaviest to the lightest:
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For pach o) dwe foliowing s problems, show your wors hing, statemants and answers clearky
i the pages provaed

230 Mrs Loamuxad AR 77’,_] f" Tup with 2 ¢ 5 AT 17‘1 of wates to rmake 4

diegeert She pourerd the raixture into bowle and had 1428 ez feft over. How
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31, Dave bought 2 kg of flour. He used 1670 g of 1t we bake s cake and tha
remainderio bake S muffins. How much four did he use far cach muffin?
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TAO NAN SCHOOL | SR
PRIMARY 3 -
MATHEMATIGCS :

CONTINUAL ASSESSMENT - 2004 (23c¢h Avgust 20040

e

ar o3 1. 2
Nz, 2 12, %
Cao 1 i3 Q)
Ot 4 14. 3
05 4 15, 3
05 1 1B, 4
07. 3 7.1
5. 3 15, (2)
09. 3
10, 3
19 4370 nl 4307 ml 4 ligres 37 mi

20) $ 81.1

s

21) $§ 59.03

22) 108
23) 6
24) 3
25Y 7
26) 35

Q) 2080 ml
30) $ 18
31) 66 ¢

32) 1800 m




